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1. For which values of the variable, x, are the following radicals defined:

a) Vix?2 b) ¥32x c) V—16x
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2. For which values of the variable, x, are the following radicals defined:
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3. Express the following mixed radicals as entire radicals: (Note that brackets have been used
to avoid confusion on whether the small number is an exponent or an index to the radical.)

a) 3V5 b) 2(V3) c) 3x(¥2)
NEAE) TG ez
S I PR

f) 2m*(3¥3m2)
= \le“)c’ {r& m*
32 e

d) 4m?n+/3

= \l@m?n? \l"i_

4. Express the following entire radicals as mixed radicals
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5. Simplify the following. Answer in simplest form. 1m
a) V7 — V28 + 3V63 b) 3v175 — 6v/32 + 98
T - R+ 20 - 30257 - bV + FI2
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6. Simplify the following. Answer in simplest form.

a) (6v3)(5v2) b) (4v18a2)(V3aZ)
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7. Simplify the following. Answer in simplest form. (Note that this means you must rationalize
the denominator if need be...)
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8. Solve the following. State the restrictions on the variables.

a) Vvm—-—1+7=13
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